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QUESTION 1

Which type of storage replication is required, at a minimum, for a non-critical application?
A. Synchronous

B. Asynchronous

C. Semi-synchronous

D. Multi-synchronous

Correct Answer: B

QUESTION 2

You have been asked to secure your FC switches in the data center. Unsecure protocols have already been disabled
but you also need to restrict access to the switches only from specific IP addresses located on the production network.

What should be used?
A. Roles

B. VSAN

C.ACL

D. Zone

Correct Answer: C

QUESTION 3

You need to merge two existing FC fabrics. After connecting the ISL to join the fabrics, numerous switches segment.
What should be done to prevent the segmentation?

A. Physically separate the switches to opposite sides of the data center.

B. Move business critical applications to clusters.

C. Increase the frequency of snapshots for critical data.

D. Assign domain IDs which are unique across both fabrics.

Correct Answer: D

QUESTION 4
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A server with a dual-ported HBA loses access to storage during switch SFP replacement. You want to prevent this from
happening in the future.

Which action should you perform?
A. Use zoning

B. Enable trunking.

C. Use LUN masking

D. Configure multipathing

Correct Answer: D

QUESTION 5

A data center has an existing three tiered storage solution consisting of enterprise, nearline, and tape. Each storage tier
has available expansion capacity. A new mission-critical application is being developed that will require 4TBs of
extremely low latency enterprise storage. The new application will be hosted on clustered servers. Cost is not a factor.
Which solution will meet the requirements?

A. Add sufficient SSDs to an existing nearline storage system.

B. Add sufficient SSDs to an existing enterprise storage platform.

C. Add sufficient SAS drives to an existing enterprise storage platform.

D. Add sufficient SAS drives to an existing nearline storage system.

Correct Answer: B
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